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QUESTION 1

You are creating a Cloud Volumes Service volume In Google Cloud Platform (GCP) that serves multiprotocol SMB and
NFS. 

In this scenario, which two directory services are supported? (Choose two.) 

A. third-party Active Directory as a Service in GCP 

B. Linux Samba Active Directory in the tenant Virtual Private Cloud (VPC) 

C. Windows Workgroup Authentication 

D. Windows 2008r2 or later Active Directory server in the tenant Virtual Private Cloud (VPC) 

Correct Answer: BD 

 

QUESTION 2

As the site reliability engineer, you have successfully deployed Kubernetes clusters on AWS and Google Cloud Platform
using NetApp Kubernetes Service. 

In this scenario, what would enable you to manage these clusters through a single management Interface? 

A. Federation 

B. Helm Charts 

C. Istlo 

D. NetApp Trident 

Correct Answer: C 

 

QUESTION 3

You have an AFF A800 system with a 100 TB volume. You are using all default settings and have 4:1 storage efficiency.
You are asked to replicate to a Cloud Volumes ONTAP instance for disaster recovery. The destination volume has post-
process compression disabled and is set up with the MirrorAllSnapshots policy. 

In this scenario, how many terabytes will be used on the Cloud Volumes ONTAP destination? 

A. 50 

B. 25 

C. 100 

D. 75 

Correct Answer: C 

Latest NS0-302 Dumps | NS0-302 PDF Dumps | NS0-302 VCE Dumps                                2 / 5

https://www.leads4pass.com/ns0-302.html
https://www.leads4pass.com/ns0-302.html
https://www.leads4pass.com/ns0-302.html


https://www.leads4pass.com/ns0-302.html
2024 Latest leads4pass NS0-302 PDF and VCE dumps Download

 

QUESTION 4

Your customer is using Google Cloud Interconnect to access a StorageGRID S3 bucket from applications running in
Google Cloud Platform (GCP). From the private cloud router, the customer can ping any instances behind the GCP
Virtual Private Cloud (VPC), but the return traffic is not routed correctly. The private cloud gateway has been defined
correctly within GCP. In this scenario, which network setting should be Investigated to help your customer solve the
issue? 

A. the CIDR blocks configured on the Cloud Interconnect 

B. the Border Gateway Protocol (BGP) parameters on the private cloud routers 

C. the VLAN configuration on the private cloud switches 

D. the maximum transfer unit (MTU) settings on the private cloud routers 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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You are asked to replicate the SVM1 to AWS maintaining all storage efficiencies, as shown in the exhibit. To satisfy this
requirement, which product must be deployed? 

A. Cloud Volume Service for AWS 

B. Cloud Backup Service at AWS 

C. Cloud Sync in AWS 

D. Cloud Volumes ONTAP for AWS 

Correct Answer: D 

 

QUESTION 6

Your company has purchased a NetApp HCI. You are asked to deploy HA file services out of the NetApp HCI system. 

Which two actions accomplish this task? (Choose two.) 

A. Select "Yes, I want to enable File Services" on the NetApp Deployment Engine. 

B. Provide an ONTAP Select license file. 

C. Provide an ONTAP cluster base license key. 

D. Use ONTAP Select Deploy. 

Correct Answer: BD 

 

QUESTION 7

You are provisioning SMB or dual-protocol shares in Cloud Volumes Service-In this scenario, what Active Directory
information must be provided? 

A. gateway IP address 

B. DNS server IP address 

C. NIS server IP address 

D. DHCP server IP address 

Correct Answer: D 

 

QUESTION 8

You are deploying a Cloud Volumes ONTAP HA system that uses multiple Availability Zones In AWS. You want to make
sure that you can access the floating IP addresses in your Virtual Private Cloud (VPC.from your other VPCs in the same
AWS region in which you have deployed your Cloud Volumes ONTAP HA system. 

How do you accomplish this task? 
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A. Create peering between your VPCs using the AWS console. 

B. Use OnCommand Systems Manager to make floating IP addresses accessible between your VPCs. 

C. Use OnCommand Cloud Manager to make floating IP addresses accessible between your VPCs. 

D. Use the AWS Transit Gateway service to create a route to your floating IP addresses. 

Correct Answer: C 

 

QUESTION 9

You are building a Cloud Volumes ONTAP HA for AWS system to support a high performance OLTP database. 

In this scenario, which two AWS disk types would you use? (Choose two.) 

A. Provisioned IOPS SSD (io1) 

B. General Purpose SSD (gp2) 

C. Cold HDD (sc1) 

D. Throughput Optimized HDD (st1) 

Correct Answer: AB 

 

QUESTION 10

As a Cloud Volumes ONTAP administrator on AWS, you want to secure your Cloud Volumes ONTAP nodes so that you
can access them from only your 10.50.0.0/16 network. 

In this scenario, what would you modify to secure the nodes? 

A. Change the Cloud Volumes ONTAP Security Group from 0.0.0.0/0 to 10.0.0.0/8. 

B. Change the Cloud Manager Security Group from 0.0.0.0/0 to 10.0.0.0/8. 

C. Change the Cloud Volumes ONTAP Security Group from 0.0.0.0/0 to 10.50.0.0/16. 

D. Change the Cloud Manager Security Group from 0.0.0.0/0 to 10.50.0.0/16. 

Correct Answer: C 
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